

Name: _____

Date: _____



7th Grade Combining

Simplify Each Expressions.

1. $-37f + 6 \cdot 9 + 4 = -(1+1)2-1 -46f$

2. $-(3+4)2 + 43q = 34q + 7 \cdot -19 + 3$

3. $43e + 3 \cdot -15 + 2 = -(4+1)2-3 + 40e$

4. $-(2+1)2-6 -21g = -23g + 2 \cdot -2 + 1$

5. $(5+4)2+2 + 70g = 63g + 3 \cdot 16 + 0$

6. $-79n + 3 \cdot 5 + 2 = (1+1)2+3 -77n$

7. $27w + 3 \cdot -12 + 1 = -(6+3)2-4 + 32w$

8. $-(2+4)2-4 -14u = -20u + 4 \cdot -9 + 2$

9. $-24y + 4 \cdot -10 + 2 = -(1+7)2-6 -20y$

10. $-(4+3)2-13 -87c = -83c + 5 \cdot -11 + 1$
